Efficiency vs dr

=
N

efficiency vs AR

[ fake+duplicates vs AR |

1

o
©

©
o2}

fake+duplicates rate vs AR

©
»

0.95

=
S
w

1072 107

1
TP min AR

[ Effici

ency vs dr (track,jet) |

1.2

efficiency vs AR(TP, jet
© ©
o o) =

©
»

o
[N

Ratio
r
o)

AR(TP, jét)

Efficiency vs pu

=
N

efficiency vs PU
o
]

o
o

0.4

0.2

T

Ratio

16 18 20
Pileup

1072 107

1072

101 o1
track min AR

[ fake+duplicates vs AR(track, jet) |

=0.0
o}
9.009
Q
H.oos
%.007
Y
D.006
B.005
0
9.004
L

P R PR st

1072

[ fake+duplicates vs PU |

1 -1
AR(track, jetgJ

5 0.0

s I
0.008F ot
D008+t
Q.007E -+ brvrbordon b
T : : : : :
B R S SR S
=3 o Lo
U B A
+ -
0045 b
0,008+ v e
Y07 008 S S T
T o o o

.....................

.....................

.....................

H—:
o ORbeelevdnddinifd,,
= I oo
[ ] = S e LR R TR TRy SRR SR S

E R P

[ —

10 12 14 16 18 20

Pileup



	Contents
	Page 1


